# 



# MELCOME

Dear Brothers,

It is the start of a New Year which means it is time for new ideas and resolutions. I am hoping that this can start with the Lodge newsletter.

As brothers, we can show our support for each other by being interested in what other chapters in our Lodge are doing. Also, these activities can inspire other chapters to try new things. The only way we can learn about each other, which promotes brotherhood, is if each chapter actively contributes to the newsletter. Maybe you don't feel the that you have anything newsworthy; however, everything and anything you do as a chapter is of interest.

Some topics that can be included are service projects, programs, training, chapter activities (please include pictures), and even social events, milestones and awards.

I would like to thank those brothers who have been frequent contributors. Your efforts are greatly appreciated. I encourage those brothers who are responsible for submitting chapter articles to step up to help.

Happy New Year!

WWW,

Noah Williams

[1] Executive Editor of Duck Calls

#### **Chapter Report**

## **Kiskiack Chapter Update**

Kiskiack Chapter has had a very successful year in 2009. From gaining more active brotherhood members to providing more service to our community than ever this year, we have seen Kiskiack Chapter grow. Kiskiack showed strong support in their turnout for James River District's 100th Anniversary event, at which we helped remove 15,460 pounds of debris and plant over 600 trees, in addition to performing our usual community service commitment. We also had a youth obtain the First Year Arrowman Award and look forward to more to follow. Kiskiack also supported our camp by organizing and conducting an awesome fall sailing campout at Bayport, being the first group to use the new campmaster program. Kiskiack also is glad to announce that they won the Iron Duck at Fall Fellowship.

Kiskiack Chapter plans to have several upcoming events. Our next adopt-aspot, at 401 Chatham Drive as usual, will be on November 21 at 2 pm, lasting until about 3:30. Please join us for service and fun. Also, our upcoming chapter meeting will be held on November 19 at the Warwick Moose Lodge just off of Turlington Road in Newport News. We also are in the process of planning a car wash and adopt-a-spot on March 27 to raise money for acquiring new chapter regalia. By getting new chapter regalia, we will be enabled to conduct ceremonies more efficiently as a chapter. Thank you all for being great Kiskiackers.

#### **Chapter Reports**

We want to encourage all Brothers to attend not only for cheerful service but also to support those preparing for ceremonies like fire building, setting-up and breaking down ceremony rings, move regalia to location it is needed, practice parts and also attending the ceremonies to welcome our brothers. Do this for the Pre-ordeal on Friday nights and the Ordeal on Saturday.

If you have any concerns or ideas, feel free to contact me.

THANKS!

Wyatt Booth

piranhaprey@gmail.com

757-874-9301





#### RECENT ACTIVITIES

The Patch and Insignia Design Committee is currently working on the 2010 Conclave T-shirts for the upcoming Sr-7a Conclave. Insignia Design Training was held at the Fall Fellowship and recruited designers.

#### UPCOMING ACTIVITIES

Session at Winter Ordeal to work on various designs for

2010 Conclave Merchandise

2010 Jamboree Flap

OA 100<sup>th</sup> Anniversary Flap

#### NOTABLE ACHIEVEMENTS

The Achtschinkhalan flap has been approved to be earned by adults and youth for recruiting new scouts by Dec 31.

#### MISCELLANEOUS

Various designs and suggestions may be submitted to the P.I.D.C. at <a href="moon.phoniex@gmail.com">moon.phoniex@gmail.com</a> or 757.874.9301

All Chapter Chiefs are requested to select representation for their chapter to be members of this committee.

# Look at your Lodge Re-charter

## 2009

		Total Lodge
Ordeal Members Inducted:	186	348
Brotherhood Inducted:	87	406
Vigil Inducted:	17	146

## Look at the Chapters

Nansemond	210
Nottaway	51
Pamunkey	146
Piankatank	118
Wicomico	262
Kickiack	121

**Event Code 675** 

# Wahunsenakah Lodge #333 Event Registration Form for 2010

Dated 11/7/2009

Separate flyers will be prepared for the 2010 Holiday Banquet Wahunsenakah Lodge #333,Order of the Arrow Check One Name Colonial Virginia Council, Boy Scouts of America Ordeal Member Home Tel. # 11721 Jefferson Avenue Brotherhood Member Cell Tel. # Newport News, Va. 23606 Vigil Member Unit & Chapter Event Event Dates Registration Due I will attend the Event Fee Late Fee Walk-in Fee **Brotherhood** Total Date events checked (1)(2). Added (3). Added Fee (4). Enclosed \$5.00 \$10.00 Winter Service Weekend Feb. 26-28, 2010 February 13, 2010 \$22.00 \$27.00 \$32.00 \$15.00 List the appropriate fees under the appropriate columns Spring Service Weekend May 14-16, 2010 May 1, 2010 \$22.00 \$27.00 \$32.00 \$15.00 List the appropriate fees under the appropriate columns Summer Service Weekend Aug. 27-29, 2010 Aug. 14, 2010 \$22.00 \$27.00 \$32.00 \$15.00 List the appropriate fees under the appropriate columns Fall Fellowship/ Seminar Oct. 29-31, 2010 Oct. 16, 2010 \$22.00 \$27.00 \$32.00 \$15.00 List the appropriate fees under the appropriate columns Food Allergies/Preferences Note 1 The event fee must be paid and received at the Scout Service Center by the "Registration Due Date" to avoid a late fee. Note 2 A late fee of \$5.00 is added to the event fee for every registration received at the Scout Service Center from the registration due date through the Monday immediately preceding the event. Note 3 A late fee of \$10.00 is added to the event fee for every registration received at the Scout Service Center from the Tuesday immediately preceding the event until the date of the event. The same \$10.00 late fee will be applied for walk-ins at the event and for telephone registrations. Note 4 Submit the Brotherhood fee only if you have been an Ordeal member for a minimum of 10 months and you intend to seal your membership in the Order of the Arrow. Note 5 Refunds will not be issued unless a written request is received at the Colonial Virginia Council Scout Service Center by 5:00 pm on the Tuesday immediately preceding the event. Note 6 Submit the signed Boy Scout Medical Form with the registration form the first time an OA member registers for an OA event in 2010. These forms will be kept until the end of the calendar year when they will be destroyed Note 7 Uniforms are required for ceremonies, Saturday night dinner, Sunday morning breakfast, and business meetings. A parent or guardian is required to sign the following statements for each attendee under the age of 18 years. "I hereby authorize the bearer of this form to seek and obtain medical care for my son in the event of illness or injury during the conduction

of Order of Arrow activities at Bayport Scout Reservation. I hereby authorize the reproduction, sale, exhibit, broadcast, electronic storage, and/or distribution of photographs/films/video tapes/ electronic presentations and/or sound recordings at the discretion of the Boy Scouts of America, and I waive any right to any

compensation I may have for any of the foregoing.

I authorize my son to drive to the event. My son meets all of the requirements of the Commonwealth of Virginia for operation of a motor vehicle. I have attached a permission slip signed by the parent or guardian of anyone else under the age of 18 who is Initial authorized to ride with my son.

Signed parent or guardian and date signed Relationship to Scout

# Lodge Budget

Wahunsenakah 2010 Budget							
Lodge Income							
Dues	925	\$10.00	\$9250.00				
Winter Ordeal	225	\$22.00	\$4950.00				
Spring Ordeal	200	\$22.00	\$4400.00				
Summer Ordeal	180	\$22.00	\$3960.00				
Fall Fellowship	200	\$22.00	\$4400.00				
Holiday Banquet	200	\$15.00	\$3000.00				
Brotherhood Fee	100	\$15.00	\$1500.00				
Candidate Fee	150	\$38.00	\$5700.00				
Conclave	200	\$25.00	\$5000.00				
LLDC	40	\$25.00	\$1000.00				
Trading Post			\$13000.00				
Engraving			\$3000.00				
World Ministry			\$300.00				
Late Fees			\$600.00				
E. Bailey Tudder Camp Fund			\$2500.00				
Total Lodge Incom	ne		\$62560.00				

#### **Expenses**

Recharter Fee to National	925	\$4.00	\$3700.00	Wicomico	250	\$1.00	\$250.00
Winter Ordeal Expenses	225	\$18.00	\$4050.00	Pinkatank 120		\$1.00	\$120.00
Spring Ordeal Expenses	200	\$18.00	\$3600.00	Nansemond	220	\$1.00	\$220.00
Summer Ordeal Expenses	180	\$18.00	\$3240.00	Nottoway	60	\$1.00	\$60.00
Fall Fellowship Expenses	200	\$18.00	\$3600.00	Pamunkey	150	\$1.00	\$150.00
Holiday Banquet Expenses	200	\$15.00	\$3000.00	Kiskiack	125	\$1.00	\$125.00
LLDC Food	40	\$16.00	\$640.00	Ceremony Team			\$200.00
Brotherhood Fee	100	\$15.00	\$1500.00	Nimat			\$50.00
Candidate Fee	150	\$38.00	\$5700.00	Patch Design			\$100.00
Vigil	18	\$25.00	\$450.00	Officers & Adviser			\$500.00
Conclave	200	\$20.00	\$4000.00	Bank Fees			\$500.00
Trading Post			\$9000.00	Capital Campaign			\$5000.00
Engraving			\$1000.00	Camp Service Materials			\$2000.00
Administration			\$1500.00	Bayport Fee			\$2500.00
AIA			\$500.00	World Ministry			\$300.00
Kitchen			\$800.00	E. Bailey Tudder Camp Fund	d		\$2500.00
Elangomats			\$200.00	Training			\$400.00
				Contingency / Carry over 20	11		\$1105.00
				TOTAL EXPENCES			\$62560.00